EARAZROREIERT — 2 N—XBISY —F 20195F9R27H (£) 10@454A4H

VGl > 2B 4 5% (w8 | mEmml - |5 ) oom 8
[AH£) 1 %:210,000 § ~ 2#%:49,000 3 ~ 3#%:21,000 8 ~ 4#%:15000 M ~ 57 :11,000 /
ARE BERE I BE | BF (FH) |515 B2 | BBEE | L3 S8 | A5 | #E | BEE 7R / BT / 22ih
— e, " 5| - KEFEL (1)
i1l QYR H o4 ;E.OE 1(4_4)2 8-8-7-6 |39.5 4 (4_427) T 2
R:bh—€>T54b06 BUI-bT1—% BREtE IXT4T77— L
S " e 5l = JeaLE ()
olglg|FrvFEXRNU— B 1(34/[2)4 I e ’ (4_911) EEBH
L:T7—2AN)— BIVRXZ27Y¥~ [Filiikse
R _ HHEN 44, oo o] - EEML (1)
A/FIVFAF R oy B 1 (ﬁz) mEES
QRIY—rE—O- BEFIAI-TI Y1 T
: EESE - - - ABES (BH)
x + Z/T o N ¥ 5 0 43 (12415/20) 1-1-1-1 41.6 7 :f; EowEA A
L:d—IRkAarO— B:7—-LF3 EHF B
- e 45, 33 3] - WS (1)
TIT 4 F *5 | B Fo7 A R O | mee
L:7VF—v B:RF—-U)-X> fisilie]
. FIIAR - 54 _ ABER (9h)
T— X4 RETFH R B IR 2R e
R:7UF—Y B:x—XARKIv>T BEE77—L
- — e : e _ HEZE (1)
71515 54 |‘Z7J77_ o4 =20 1.(426>.l 5-3-6-7 42.2 3 IE(E)S)S i 23
QN—HIKE B ATHIYST A — =Tl L4
e ] : - - AEER ()
g7l 7 rj,r oG =y 4 8 560 1.(467).4 7-7-8-8 43.0 8 <4+757) i 2
LTAENTT BT RIAVT IR oy
@ 1 —F—@&EBIEf
1d—7+— 2,3,4,6,5,8,7,1
23—F— 2,3,(4,5),6,8,7,1
30—+— 2,3,4,6,8,5,1,7
4=1=Ch— 2,3,4,8,6,1,5,7
o HRE
BB 1 950M 714K 1-8 640/ B E 1-8 3,100M 3ER 1-3-8 1,050
BB 1 180 1-3 210 B H 1-8 7,060M 3EH 1-8-3 21,340
8 260/ 3-8 2101
3 1504

ABICOVWTRDTEEERROODE. TR LIV,




